
85 

 “ . ”,  55, .I , , , 2012 
ANNUAL of the University of Mining and Geology “St. Ivan Rilski”, Vol. 55, Part , Mechanization, electrification and automation in mines, 2012 

 
 
 
 
 
 

,  
 

 
 

 
, 2070 ; e-mail: office@cmc-c.com 

 
:  

  .   . 

. 
ACCEPTABLE CURRENT LOADING IN THE UN-INSOLATED BUSBARS, WORKING IN AN AREA WITH TEMPERATURE 
DIFFERENT THAN THE ANNOUNCED 
Stefan Chobanov 
CMC-C Ltd., 2070 Pirdop, e-mail: office@cmc-c.com 
 
ABSTRACT: A methodology for determining the acceptable current loading for practical application of un- isolated busbars at different temperatures of the working 
area in accordance with the acceptable current which is announced for the appropriate temperature is proposed.  
Examples of practical application are discussed. 
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 2 
                 oC        

 oC          5 10 15 20 25 30 35 40 45 50

60 1.25 1.19 1.13 1.07 1 0.92 0.84 0.75 0.65 0.53

70 1.2 1.15 1.1 1.05 1 0.94 0.88 0.82 0.74 0.67

90 1.14 1.11 1.07 1.04 1 0.96 0.92 0.88 0.83 0.78

110 1.11 1.08 1.06 1.03 1 0.97 0.94 0.91 0.87 0.84
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